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ACC Geometry Similarity Review - Quiz B

All measurements are in centimeters.
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In Exercises 36, decide whether or not the figures are similar. Explain why T\(\_Q SW\ OL—?) W
or why not. . ;
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7. Explain if the following triangles are similar if so state
their similarity statement- order matters!!!
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*» Find the perimeter of the larger pentagon if the two pentagons
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9.

State the similarity statement and EXPLAIN the similarity shortcut you used in DETAIL!
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Find a, b, and ¢ if the perimeter of AMON is 63 inches. All measurements are in inches,
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Ata certain time of day, a 6 ft man casts a4 ft shadow, At the same time
of day, how tall is a tree that casts an 18 ft shadow?
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IfaSft 10 in. person casts a 7 ft 4 in. shaclow, how tall is a person who, at \ __—
the same time, casts a 6t 8 in. shadow? Give Your answer to the nearest S
inch.
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13 Private eve Samantha Diamond places a
mirror on the ground between herself
and an apartment building and stands
s0 that when she lnoks into the mirror,
she sees into a window. The mirror's
crosshairs are 1.22 meters from her fest
and 7.32 meters from the base of the
building. Sam’s eve is 1.82 meters above
the ground. How high is the window?
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COORDINATE GEOMETRY Find the image of each polygon, given the vertices, after
a dilation centered at the origin with a Sﬁﬁlﬂlfaﬁtﬂl‘ of 2, Then graph a dilation
centered at the origin with a scale factor of 5
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16. Draw the dilation imagé of each figure with center € and the given scale factorn




Using Similar Right Triangles

17. State the similarity statement and find LM. A L MN A /ACQMP

12 10
N \6I7 \<>/ s LM—]X(

18. State the SImilarity statement and find x.
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19. State the similarity statement and findx. X = \7. ) L M=15 , NM=\Z
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